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12 Attempt any SIX parts: Fa 0’4’-;’ :é&f'ﬂicéf

a+c¢ a+2b 0 ;
. L 1 4d-6 } [3 2d} u" (bv/ufuf:\/dnd)ii( o J dstcebea ()
. . L . . atc a+2b|_[0 -7
Find the values of a, b, ¢ and d which satisfy the matrix equation: [C_1 4d ‘(,}‘[3 Qd}
2 3 2 3 '
2 -1 [2 -1 . (i
Multiply these matrices: ! 1 [3 0} ! ! 13 0} IZ:/()L’"JIL’G/’ (i)
0 -2 0 -2 2 4
3 3 o A
Simplify: 527 2 (5%) 52 +(52)3 5{/"; (iii)
Simplify: 251 0ny B y 25x10ny8m {_:/47; (iv)
Find the value of x from the given statement: log, 64=2 log, 64=2 é&’;{“d’ X ufoblx'gd) (v)
21 5 21x5 6w ¥ s :
Write into sum or difference:  log = log 8>< :é‘fuffJU/Lé-’f.C(’fW (vi)
2.3 _c 4 3_ .
Bvaliite X )’XYZSZ for x=4,y=-2,z=-1 x=4,y=-2,z=-1 f‘__r};’_’jJ X y SL (vi)
Factorize: 3x - 243x° Ix - 243x° :é(jf (viil)
2 2
X +y)" —4x X + —4x b N ;
Reduce the rational expression in lowest form: L(_:):;z_y ‘(“?;y%“y;j*l éfguffq’//"’fﬁubh (ix)
12 Attempt any SIX parts: Ig{d’r'm‘jc_é{
2 1 ] . s .
Use factorization to find the square root: X~ ~1+ o (x = 0) o (20 ngf()b”@/l/ydfﬁg{/,g (i)
+5 +5 -
Solve forx : ‘;_X =6 ;_x =6 ig‘.i:pb"&nf(abv (i)
Define a linear inequality in one variable. -g{&ﬂ&@bb}&/}ég)@:‘&b@ (iit)

e Chy X -y +1=0 70 (0, 0) BUZEJsd  (iv)
Verify whether the point (0, 0) lies on the line 2x -y +1=0 or not ?

Draw the graphof: y=7 y=7 Zé:ﬁ\_ﬂ/{:’:v W)

L Q e 5,8) B3k Ui P, 6) LK PQ s (vi)
The end point P of a line segment PQ is (3, 6) and its mid-point is (5, 8). Find coordinates of the end point Q.

Define scalene triangle. : —5‘/_4/3‘J¢17‘CWU1J; (vii)
C M
msN = . MZM = ¥y AABC = ALMN //1 (viii)
60° 30
50° sor 907 coe If AABC=ALMN [ then m£M=__ mdN=z
A B L N
P N -~ . £ 5 of
) M3 T 110° KUl dend Sl oS # el LMNP AT (ix) -
S
‘{}B The given figure LMNP is a parallelogram and sum of the opposite angles of it is
L M 110°. Find the remaining angles. 2
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Attempt any SIX parts: waq"u :é—fd?l’].laz?c_.éf
‘ _nc{r:l’”&x_:"tf 2% ssl y° e x° r:""L LK A sl AD U< ABRC wﬁﬂi’ﬂld)l/u(d) 1

If the given triangle ABC is equilateral and AD is bisector of angle A, then find the values.

of unknowns x°, y° and z°.

B4 l ANy : ¥ ; s 3
- -é\-"f’u’f—kﬂ) ~%WO?UJCW‘£¢DL}J Tem sh dem < 3em (i)
3cm, 4cm and 7cm are not the lengths of triangle. Give the reason.
Define ratio. xé__y/j(,(.:ﬂﬂ (iii)
a=5cm,b=12cm, c={3cm v‘awfﬂﬂ;f’l&,ﬂ,f“‘é&ﬁ -uqu'HJCUMf_w L fien (v
Verify that the triangle having the following measures of sides are right-angled: a=5cm,b=12cm,c=13cm
A
15cm 13cm Find the value of x in the given figure: Mé(:h’é’,jtf X u:(fik_'(d) v)
E X D Sem B
Define the term "area of a figure". -é@fg{"ﬁz%ﬁé’?jﬂbﬂbﬂi vi)
Find the area of the given figure: 3em iér:l"‘}/b/ydrd) vii)
Gem ‘
Define incenter. ,é_g/J}Qduﬂ (viii)
Construct a triangle X YZ: mZX = 6.4cm , mYZ = 2.4em , mLY =90° bk XYZ 2 (ix)

-6 9 A gt 08 L~y Fevin L irfe 3 PORYIAN

Part - II, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 is compulsory.

-4

4x+2y=8 ; 3x-y=-1 & S salS UL Ul (D)

Solve the system of linear equation by using the matrix inverse method: 4x | 2y =8;3x—y=—1

Solve the equation for real x and y: (2-3i)(x+iy)=4+i 5_{(]‘1}." y sl x Jaiila (._',)
o (8.97)° x (3.95)? B97’x3.95° # 01 (L)
Solve by the logarithm: 537 537 ~~‘£L/PC'—)AJ(€/{}}

AP p =20 VT )

(X+2)(X+3)(x +4)(x +5)—-15 EEGA (L)
x*—10x> +37x2 - 60x + 36 éf}"‘d}bpﬂ?ﬁ:gu (ed

Use division method to find the square root of the expression: x* —10x> +37x2 - 60x + 36

5(x-3 -
Solve the equation: %—l-X= *% ﬁ%ﬁ—XZJ‘% -'éi:tffeuv ()

EE ot L LI L izt ABC ol (o)
Construct the AABC and draw perpendicular bisectors of its sides:
mBC=2.9¢m , mZB=60°, m/A =30°
e ISl s o 13 5 s s Gl i b5 b B (S

Prove that any point on the right bisector of a line segment is equidistant from its end points.
-- OR | ..

- bk W Uni £ il ot st et

Prove that any point on the bisector of an angle is equidistant from its arms.
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Factorize:. (% +2)(X +3)(x +4)(x + 5)— 15
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D C B A Questions / o Ul S
e - . ==
(3)( lJL()X 3% ‘;J C (3)\' ~%),(9x2 +3+»-’5] A S AL 2T =5
; b X
: " ]
7 3 Y e 27)(3 s ~a .
(zx & »—»I—),(‘)xz =X L] D L}x +VIJ,[9x2 o -'-—) B | Factors of g
L X # x?
Jo-Jb | Jaadw 0o Y e gk b s 2
R Conjugate of surd a4+ /b is:
logcmn nlogm mlogn (logm)? *‘f—ww"’qf{ . . s log(m") | 3
log(m™) can also be written as:
1 « 0.4343 0 JFERNE G e 4
loge = where ¢~2.718 :
A . o025 b L
~2abi 2abi ~2ab 2b w07 20+ A s
Real part of 2ab(i +i%) is:
. w8 3
(35 35 % 3 .:‘;,A.J_/,b/u: 35 6
- In 3/35 the radicand is;
o ] y Sy -l 211 o) £
22 20 0 2 W e X3 0 7o 1N T
0 2 0 2 2 2 2 0 f o5 Lo
’ X+ _7|= z :
If [ 0 4} [() ]J,then X is equal to:
YRS IS ——— | : : e
2t P2 R S Y 4 [0 J3 8
J2 0 } : :
Singular Scalar Unit Zero [0 V2 [iscalled __ matrix.
et UL e 30° sliklye wbl e dogfUIGS | 9
K2 3 6o? 30 An angle on the base of an isosceles triangle ' L"Luif
is 30°. What is the measure of its vertical angle?
it i e Ji Lt L sl F ek 10
Parallel Concurrent Collincar Congruent | The right biscctors of the three sides of a triangle are:
v 18 e 0, 2,2 1
(4D 0.0) (-2.-2) 2.2) ‘e AVt (272 51 (=2 D) 11
Mid-point of the poinrs (-2, 2) and (2,-2) is:
v v % = = = ¥y W
. 1 7 2.1 .81 . fe Oy ULy =2x bl | 12
Which ordered pair satisfies the equation y = 2x ?
5 = le b e lls Lo i A2y < o> < LGS 13
0, : 5
Incquality Identity Equation A statg;nent “;"JAM—M
i involving any of the symbols <, >, < or > iscalled:
i 4 1
! - : Lo * *—7+2| 14
i [xz —'2] J_-(x ~)]() :t(,\'z +~%»J i[x + —J() i 1 ({—d/ .| 2
X x The square root of * +“;4‘* 2 is:
g ek 20533 1 sx2y2 Ude| 15
Sxy 100x5y5 20,33 52y =2 Y a3y ot
H.C.F. of 5x2y% and 20x3y° is:
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( part -1 J3l 4as )

Attempt any SIX parts: m42 ’z’ c{d’rl]'ic;df

[ t - #
if B :[2 ()jl, then verify that (Bt> =B, ( ) = J/c{ UJM”J’ B= {2 Q]/ (H
| =2 - “ 1y 7 -
IFB:[_l],then find B*{ 3] nél’yL"B‘{ 3} ».,/’L?)’B:[_J/l (i)
Express (=7 +31)(-3+2i) in the standard form a+bi. _g‘;/:u;uf a+bi fd/.lgw( (=7+30(=3+2D) (i)
Evaluate: _"ér)’t:,x’:J P20 (iv)
Express 5.06x 10'% in ordinary notation. -;,u~(’/(lp)( 5.06x10'0 ()
Fisnd the value ofxwhen 08 9= 2 log, 64=2 ﬁg{r}l’)v—é dx i)
2 2
_dx +4 —4 w S N
Reduce the expression to the lowest form: —)(—2*'2%‘ x_2_2_x_;r4_ éﬁ’juff’[j_//‘jféiu’% (vit)
X7 - R v
simplify: ~ (3+V3)(3-+3) (B+v3)3-V3) A (i)
Factorize: 9xy - lezy + 18)'2 9xy-12x2y+ 18y2 ..Z";U’f (ix)
Attempt any SIX parts: Zg‘;(gﬂl‘ziazc_(}f
it e 4x? = 12xy + 9y? Lol NS E s
Use factorization to find the square root of the expression: 2 Xy +3y = /'ug(,f.y/,g 0]
2 1 ! 2 i i 7
Solve the equation: ~FX -5 X=X+ FRogEEArE :éi()b’;,gd’&;l,p (i)
3-5x| 1 _2 13-5x| 1_2
st [7-573 et & @
Draw the graph of X =73 . -’c_.l::b;'/? x=-3 (iv)

Verify that whether the point (5, 3) lies on the line 2x—y + 1=07 ?uf.f;&‘cdlu_’ X~y +1=0 fy(5,3) ,&?},}/{_{Qﬁ v)

Find the distance between the given points: A(=8,1),B6, 1) A(-8,1),B(6, D Iﬁépb’yliu_l,/uﬁblﬁ (vi)
Find the mid-point of the given points: A0, 0), BO, -9) A0, 0), BO. -3) Ig‘;r(}”ﬁ&lf/)(b@ (vii)
- L
M 800 W :é/r)b/&/g& X r}’/t;}ﬂ AABC = ALMN /(/[ (Vill)
60°

1f AABC=ALMN thep find x

40° 807
A 5

p__ 8 N

— 25 0 m Il IS ] LMNP A (%)
™ If LMNP is a parallelogram then find m, n :

o

(U

L gm—4n M

Attempt any SIX parts: 15‘,{(}’?'2’{'@(}{
A : - , -
N a3 2l x° Lt A s AD U ABC YA (I O

If the given triangle ABC is equilateral triangle and AD is bisector of angle A, then find

the values of unknowns x°, y© and z°.
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If 10cm 6cm and 8cm are the lengths of a triangle, then verify that sum of measures of two sides of a triangle is
greater than the third side.

Define ratio. -C‘-:J/‘TJV") (iii)
*‘K‘_qumu,n/l.xud" ALJ\}U x-Uf 17 0 x « 8 A S EeIl ads T (iv)

The three sides of a triangle are of measure 8, x and 17 respectively. For what value of x will it become base of a
_right angled triangle?

X 13cm Find the value of x in the given figure: g‘{r)j".:ffg( X uflﬁdfd; ™)
Sem 8cm
Find the area of the given figure: A5 :g{r)‘"}/(f Cﬁf i)
.’ 1 5 W
Define altitude or height of a triangle. Q_é i /"L,( Ll et (vii)
Construct triangle ABC in which: mAB =2.5cm , mZA =30°, m<B =105° S et ABC &4 (viil)
Define orthocenter. Sy /‘."J/"")“ZT/)}Q’;/ (ix)

-c"_dJU 9/,’U'r -L/,?/'.} 08 LJ’:’/: -g{{fo&’ﬁéaﬂlrcjfcdf «deéhiaa

Part - II, Attempt any THREE questions. Each question carries 08 marks. Question No. 9 is compulsory.

Solve the equation:

4x+2y=8; 3x~y=~1 ‘ ;"éyLMJJﬁ’LU}Jm@;’UPGﬂd) )]

Solve the given system of linear equations by using matrix inversion method: 4x+2y =8 ; 3x—y =-1

il (81)* x3° — (3)"1(243) (81" x3° - (3)"1(243) 5 Ceu)
Simplify: S S
s o) TG #r
Use log table to find the value: 0.8176x13.64 0.8176x13.64 Iéf#&l};u({d;gﬁ@ (I

_ég‘,)y&gu(mz+n2+p2;ﬂmn+np+mp=27 s M+n+p=10 f (o)
If m+n+p=10 and mn+np+mp:27 then find the value of m2+n2 +p2

"&./{’J/WUJ’IP(X) 4x> —7x* + 6x — 3mu:/x+2 A./.:J(j(o(m féf:l"" ()

For what value of m is the polynomial p(x) = 4x* - 7x% + 6x - 3m exactly divisible by x +2 7

Find square root by division method: 4x? +12xy + 9y +16x + 24y +16 :g_f()"f(é/ujg K,L".(’-'u.;u,} ()

2 1 __1
x2-1 x+1 x+1°

X # £l e e hle (L)

Construct triangle PQR and draw its altitudes: ?’é?/(@@ﬂ),v/é:u' &t PQR &4 ()

mRP =3.6cm , mZQ =30°, m/P =105°
ErdeWislnc Us 13 s I sy i UL 153 a5 5 (LS o

_Prove that any point on the right bisector of a line segment is equxdxstant from its end points.

-- OR | -
wc_t’f,ﬁbj'd)l/c,u»zLLJ%}J//J/LLL:UU{J/é».JL

Prove that any point on the bisector of an angle is equidistant from its arms.
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